REDROCK

GoPro MOUNT FOR OEM
HOOD MOUNTING BRACKET

(2021-2023+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS

(1) Laser Cut Bracket

(1) GoPro Mount

(1) M8 x 1.25 x 16mm Allen Bolt

(1) M8 Lock Washer

(2) M6 x 1.00 x 20mm Torx
Bolts

(2) M6 Flat Washers

(2) Torx Wrench

(1) Allen Wrench

TOOLS REQUIRED

T-30 Torx Bit/Socket
Ratchet

SKU # FB34611
Edited: 11/06/2023



REDROCK

STEP1

Using (1) M8 x 16mm Allen bolt and (1) M8 lock washer, loosely secure the GoPro mount to the
mounting bracket. Allow the mount to remain loose to allow for adjustment on the vehicle.

STEP 2

Remove the (2) Torx bolts in the hood mounting bracket. Ensure to allow the threaded inserts to
remain inside the bracket when the bolts are removed.



REDROCK

STEP 3

Align and secure the assembly to the vehicle hood bracket using (2) M6 x 20mm Torx bolts and (2)
M6 flat washers. Tighten the bolts evenly until secure.

STEP 4

L NS

Adjust the GoPro mount to the desired position, and tighten the (1) M8 Allen bolt to secure into
place.

Installation is now complete.



	FB34611 - RedRock - GoPro Mount for OE Hood Bracket (21+ Bronco)-01
	FB34611 - RedRock - GoPro Mount for OE Hood Bracket (21+ Bronco)-02
	FB34611 - RedRock - GoPro Mount for OE Hood Bracket (21+ Bronco)-03

